GL-CFDOG6DA-35 Installation of Color Ring Accessory

YRRZKERRIBE

Thank you for choosing the GL-CFD06DA-35 Series LED products. Please install and use the products
according to the following directions to ensure normal function and operation. Please use stainless screw
to fix holder and make sure screwed tightly. If you do not follow these instructions to properly install and
use the GL-CFD0O6DA-35, you will not be eligible for warranty compensation or protection. We do not take
any responsibility for product damage resulting from improper installation or abnormal usage.

U T EEE AGL-CFDO6DA-35 23ILEDER - B AURIE NIRBE R AR ZEAE mUEREE
M EREF - B2EMAMBETEF T AEFIDELHENEBRRET - WARLRBIE
NEEZEDRERER  SHNERBREISILEENRERE -
AEBHNLZEACHMERNEREBER  ARTEREER -

Make sure to turn off the power before installing.
@ ZER - AEEEMAER -

Ste J S/i_'l/:,, EI%

ZERBEY  BEFHLIFNFE - WHFEZMBIEELED CoB -

During the process of installation, we suggest to wear the clean gloves and do not touch the LED CoB.

OFF
Step 1. Step 2.
(a.) Unscrew the M3 screw indicated in the diagram to remove the reflector. Install the color ring onto the fixture and tighten it with the
(b.) Spin the reflector clockwise and pull directly downward to remove it two M3 screws.
from the fixture. B BIRMUMIBHE EEE BN

(a.) BREHFABIMIBHAI T HR -
(b.) #kETFE A R HE AT REIFREL T -

SR /. CAUTION/: & |

To avoid damage, please do not attempt to rotate acrylic cover
or dismantling the internal component without in accordance
with instructions.

AEES TR E NG ARMRIE R FEAERHE - DU RIER -

PN

Step 3. Step 4.
a.) Align the reflector back in the center of the fixture. Make sure the latches line up. Installation completed.
b.) Tighten by rotating the reflector according to the diagram. SR 2R .
c.) Fix the reflector with by replacing the M3 screw in the step 1.

a.) iR E R HE PRI E -

b.) IkETEEFS [ RS IR 44 FL Y - R RE A FIED -

c.)

(
(
(
(
(
(c) UL BIETFHIM3B4: - RFAEEEEE L -

©2016 GlacialTech Inc.
All rights reserved. All brand names and trademarks are the properties of their respective owners.
1E The specifications are subject to change without notice. C
For further information please visit official website : www.GlacialLight.com
IRHERRA BIENMTE ARBEARUNBEENALSTEA - MBREZEHN - FLEES ML : www.GlacialLight.com

RECYCLABLE
PACKAGING

€ -

17-CF35S002001



GL-CFDO6DA-35C Installation of Color Ring Accessory.
el THARBEEEED) (frosted reinforced glass)

Thank you for choosing the GL-CFDO6DA-35 Series LED products. Please install and use the products
according to the following directions to ensure normal function and operation. Please use stainless screw
to fix holder and make sure screwed tightly. If you do not follow these instructions to properly install and
use the GL-CFDO6DA-35, you will not be eligible for warranty compensation or protection. We do not take
any responsibility for product damage resulting from improper installation or abnormal usage.

U M EEEAGL-CFDO6DA-35 2JILEDE R - FBIKIB N IIRRARIE R AR L E A E mUERAE
MR IERERE - F2EMAMBEETEF ot - REFIDENHEAERRF - WERLERAE
MEEZEURESER  SHEMBGRIBILENRERE -

ALEENLZEAGTHAERNERBR  ARTIELEER -

Make sure to turn off the power before installing.
ZHH]  ARERAER -

Ste 0 S/'ﬁf,ﬁé During the process of installation, we suggest to wear the clean gloves and do not touch the LED CoB.
= ZEBED  BETFHLFNFE - WHFZBELED CoB -

Step 1. Step 2. Step 3.

Remove the acrylic cover by rotating (a.) Unscrew the M3 screw indicated in the diagram Install the color ring onto the fixture and tighten
it clockwise. to remove the reflector. it with the two M3 screws.
RETBRS @G B W& T - (b.) Spin the reflector clockwise and pull directly B BRMMIBHEEEEERE L -

downward to remove it from the fixture.
(a.) B REFRAFIMIZLAE T & -

(b.) fEETEE ARSI - //\ ///“\\

§ ]ﬁ

Step 4. Step 5.

a.) Align the reflector back in the center of the fixture. Make sure the latches line up. Fasten the acrylic cover by pushing upward and

b.) Tighten by rotating the reflector according to the diagram. rotating it counter-clockwise. Installation completed.
c.) Fix the reflector with by replacing the M3 screw in the step 2. & ERSE NS kETR S MR ABEAREED - BIEmLH -

a.) BREEERLREMTE -
b.) ikETER /T M e (IR A FLEE - B RETIEA RIS -
C.) LIS B FHIM3IR4: - IS RETHEEEER E -

~ e~ o~~~ —~

sl

©2016 GlacialTech Inc. RECYoLABLE
All rights reserved. All brand names and trademarks are the properties of their respective owners. ( € FCC D ﬂﬁm o
. Roils

[E741E The specifications are subject to change without notice. L € I, L] U @
For further information please visit official website : www.GlacialLight.com —

[ s BESE ARBRRNSNALERTSTEM - ABERESHEA - HSHEHM  www.Glaciallight.com 17.CF355002001




